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SOLVE
Use objects or pictures to complete the questions. 
Alex has 4 equal groups. 
Show me what Alex’s groups could look like. 

Whitney has 3 unequal groups. 
Show me what Whitney’s groups could look like. 



















Answers
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Jemimais counting in 10s on part of a

hundred square.
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She starts at 10

Shade in all the numbers Jemima will
say.

What is the same about the numbers
she says?

What is different about the numbers?
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In a shop, grapes come in bunches of 10
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Max wants to buy forty grapes.

Are there enough grapes?
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Use the digit cards only once to

complete these multiplications.
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Whitney has calculated 4 x = Possible answer:

BN TTTTTTTTTT] | disagree. Whitney
BN TTTTTTTTTT7] has shaded 12
BN T | ? fourteenths. She
W T ITIT1] has counted all of
the boxes to give

From the picture | can her the
seethat4 x & = 2 denominator when
itis not needed.
The answer should
12 6
Do you agree? begzors

Explain why.
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Write a problem that matches the bar

model.
96

?

What other questions could you ask from
this model?

,
Z of aclass are boys.

There are 18 girls in the class.

How many children are in the class?

Possible response:

There are 96 cars
in a car park.

3

£ of them are red.
How many cars
arered?

How many were
not red? etc.

There are 32
children in the
class.




